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OE = 4 < CB = 2 < AB = 4 < CD = 4 < r = 2 <
CH = AG = 2 < GE = 1 < ωOA = −4 =
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OE = 4 < CB = 2 < AB = 3 < CD = 4 < r = 1 <
CH = 3 < AG = 2 < GE = 1 < ωOA = −3 =
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OE = 6 < CB = 2 < AB = 4 < CD = 4 < r = 2 <
CH = AG = 2 < GE = 1 < ωOA = −4 =
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OE = 4 < CB = 2 < AB = 5 < CD = 6 < r = 1 <
CH = 5 < AG = 2 < GE = 1 < ωOA = −5 =
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OE = 6 < CB = 2 < AB = 3 < CD = 3 < r = 2 <
CH = 1 < AG = 2 < GE = 1 < ωAB = 3 =
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OE = 6 < CB = 2 < AB = 3 < CD = 4 < r = 1 <
CH = 3 < AG = 2 < GE = 1 < ωAB = 7 =
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OE = 8 < CB = 2 < AB = 3 < CD = 3 < r = 2 <
CH = 1 < AG = 2 < GE = 1 < ωAB = 3 =
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OE = 3 < CB = AB = 3 < CD = 4 < r = 1 <
CH = 3 < AG = 2 < GE = 1 < ωAB = 7 =
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OE = 6 < CB = AB = 3 < CD = 3 < r = 2 <
CH = 1 < AG = 2 < GE = 1 < ωCB = −4 =
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OE = 6 < CB = 3 < AB = 2 < CD = 3 < r = 1 <
CH = AG = 2 < GE = 1 < ωCB = 2 =
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OE = 9 < CB = AB = 3 < CD = 3 < r = 2 <
CH = 1 < AG = 2 < GE = 1 < ωCB = −6 =
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OE = 6 < CB = AB = 3 < CD = 4 < r = 1 <
CH = 3 < AG = 2 < GE = 1 < ωCB = 6 =
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OE = 9 < CB = AB = 3 < CD = 3 < r = 2 <
CH = 1 < AG = 2 < GE = 1 < ωCD = 1 =
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CH = AG = 2 < GE = 1 < ωCD = 1 =
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OE = 12 < CB = 3 < AB = 6 < CD = 6 < r = 2 <
CH = 4 < AG = 2 < GE = 1 < ωCD = 1 =
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OE = 2 < CB = 2 < AB = 3 < CD = 5 < r = 1 <
CH = 4 < AG = 3 < GE = 1 < ωCD = 1 =
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CH = AG = 3 < GE = 1 < ωdisk = 4 =
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CH = 4 < AG = 3 < GE = 1 < ωdisk = 5 =
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OE = 4 < CB = 2 < AB = 5 < CD = 7 < r = 1 <
CH = 6 < AG = 3 < GE = 1 < ωdisk = 5 =
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OE = 8 < CB = 2 < AB = 4 < CD = 6 < r = 2 <
CH = AG = 4 < GE = 1 < ωCD = 1 =
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CH = 4 < AG = 3 < GE = 1 < ωCB = −2 =
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OE = 9 < CB = AB = 3 < CD = 4 < r = 2 <
CH = 2 < AG = 3 < GE = 1 < ωCB = −6 =
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OE = 6 < CB = 2 < AB = 3 < CD = 5 < r = 1 <
CH = 4 < AG = 3 < GE = 1 < ωCD = 1 =
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CH = 6 < AG = 3 < GE = 1 < ωOA = −5 =
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CH = AG = 3 < GE = 1 < ωAB = 4 =
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CH = AG = 3 < GE = 1 < ωCB = −2 =
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OE = 4 < CB = AB = 2 < CD = 4 < r = 1 <
CH = AG = 3 < GE = 1 < ωOA = −1 =
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OE = 6 < CB = 2 < AB = 3 < CD = 4 < r = 1 <
CH = 3 < AG = 2 < GE = 1 < ωCD = 3 =
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CH = 5 < AG = 4 < GE = 1 < ωCB = 3 =
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ωOAz
ωABz

ωCBz
ωCDz

ωdiskza b c de f f
f b g dh i i
i b c af f f
j b k al c c
c df b dh a a
h di b dk i i
g df b e a a
e di b i i i
k df i b a a
al d a i b a a
aa df i b a a
af di g b i i
ai df i h b a
aj d a i di b a
ac df f e b a
ah d a i d a b a
ag de ai d ah j b
ae d al aj dil c b
ak dc aa al c b
fl df j e b a
fa d a i b a a
ff df j b a a
fi d a i di b a
fj d a i f b a
fc df c b f f
fh dc b d ac c c
fg b aa d al c c
fe d a b a a a
fk d a j b a a
il b j df a a
ia di g k b i
if b ai dc c c
ii di aa b i i
ij b j a a a
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